00000000 00 LODO0000DO0000DO0000O0O000O0ODO0OO U0 00D (26)0000
Ooobooog xgooooooooooobooo

ui:UijUj
(24)00000O0O0O((R6G)DOO0ODOOO
1 B
x=-1m+Ar+ —
4 r

000000000000 000000D0000 AOBO ul r=10 0O(vanish) 000000
000000000000 (24 0000000000000000 X'(1)=x(1)=000000
0B=1/40 A=3/400000000000000r0 1,0

3/U-rr U 1 U-r
“:U‘4( 3 ﬂ)‘N( m)
_3U0r
2 73
3/A0000000 Stokeslet 100000 -3/4-87U=—6rU00000000000000 LOO
000000 U000 dragl 6rULp0000000000000000000000000000000

goboobodboooboobooobooboobbooboobbooboobbobDboobnoo
gbooooooobobobobooooooobooboboboooo

p:



